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’ Instructions on how to complete this answer sheet are ‘given on the question paper. Please make sure you follow them carefully. ‘
Questions ONE to NINE Choose one response 1 - 4 for each of the parts A - D
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} Instructions on how to borhplete this answer sheet are given on the question paber, Please make sure you follow them care‘fully.‘

Questions ONE to NINE Choose one response 1 -4 for each of the parts A -D
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3A where the plates drift apart S e G,
3B Wwhere convection currents occur, creating plate movements oo o0
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